CONCORDIA PARISH	PLANT ENTERPRISES PRODUCTION			CTION		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						_
Lint - Irrigated (Total)		2,594.0	1,150.00	2,983,100	lbs.	\$1,342,395
Lint - Non-irrigated (Total)		34,460.0	950.00	32,737,000	lbs.	\$14,731,650
Cotton (Total)	125	37,054.0				\$16,074,045
FORESTRY						
Pulpwood						
Hardwood				35,187	cords	
Pulpwood (Total)				35,187		
Saw Timber						
Hardwood				5,399,220	board feet	
Saw Timber (Total)				5,399,220		
Total Pulpwood, Chip & Saw,						\$4,950,113
Saw Timber FOB Mill						
Total Forestry Stumpage						\$2,302,210
(Total)						
Christmas Trees (Total)	*			75	trees	\$3,000
Forestry (Total)						\$4,953,113
FEED GRAINS						
Corn (Total)	150	14,375.0	100.00	1,437,500	bu.	\$3,148,125
Grain Sorghum (Total)	145	9,248.0	50.40	466,099	cwt.	\$1,668,634
Oats (Total)	*	715.0	100.00	71,500	bu.	\$133,705
Feed Grains (Total)		24,338.0				\$4,950,464
HAY FOR SALE						
Grass (Total)	20	16,400.0	0.70	11,480	tons	\$688,800
Hay for Sale (Total)		16,400.0				\$688,800
Home Gardens (Total)	520					\$135,200
NURSERY CROPS						
Woody Ornamentals (Total)	*				acre	\$20,000
Nursery Crops (Total)						\$20,000
PECANS						
Improved (Total)	30	215.0	301.00	64,715	lbs.	\$84,130
Native (Total)	10	600.0	150.00	90,000	lbs.	\$81,000

CONCORDIA PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Pecans (Total)		815.0				\$165,130
Rice (Total)	12	14,726.0	63.00	927,738	cwt.	\$6,540,553
Soybeans (Total)	300	87,435.0	35.00	3,060,225	bu.	\$18,085,930
SWEET POTATOES						
Fresh (Total)				1,020		\$15,045
Sweet Potatoes (Total)	*	3.0	340.00	1,020	bu. (50 lbs.)	\$15,045
VEGETABLES						
Sweet Corn (Fresh) (Total)	*	38.0	700.00	26,600	doz. ears	\$93,100
Vegetables (Total)		38.0				\$93,100
Wheat (Total)	22	1,748.0	65.00	113,620	bu.	\$372,674
TOTAL ALL PLANT ENTERPRIS	SES					\$52,094,053

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Crawfish (Farm) (Total)	10	650	Acres in Prod.	325,000	lbs.	\$178,750
Catfish (Farm) (Total)	*	100	Acres in Prod.	450,000	lbs.	\$315,000
Turtles (Total)	10			100,000	each	\$45,000
Aquaculture (Total)						\$538,750
Fur Animals (Total)				28	pelts	\$272
Alligators (Wild) (Total)				1,185	ft.	\$35,550
HUNTING LEASES						
Waterfowl (Total)	7	12,000	No. Acres		acre	\$600,000
			Leased			
All Other Game (Total)	30	80,000	No. Acres		acre	\$560,000
			Leased			
Hunting Leases (Total)						\$1,160,000
Honey (Total)	*	600	No. Hives	92,600	lbs.	\$54,634
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISES					\$1,789,206

ANIMAL ENTERPRISES PRODUCTION

A : 1	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			832	head	\$443,527
400-500 lbs.			693	head	\$419,345
500-600 lbs.			346	head	\$227,351
600-700 lbs.			137	head	\$100,947
Steer Calves (Total)					\$1,191,170
Heifer Calves					
300-400 lbs.			1,530	head	\$715,696
400-500 lbs.			1,200	head	\$656,478
500-600 lbs.			910	head	\$563,863
600-700 lbs.			450	head	\$313,970
Heifer Calves (Total)					\$2,250,007
Yearling Cattle					
600-700 lbs.			420	head	\$2,594
700-800 lbs.			410	head	\$2,737
Yearling Cattle (Total)					\$5,330
Cow-Calf Pairs (Total)			6,500	pair	\$6,364,345
Cull Cows (Total)				head	\$386,446
Cull Bulls (Total)			65	head	\$60,323
Cattle & Calves (Total)	106	8,663 No. Cows			\$10,257,621
HORSES		•			, ,
Brood Mares					
Show Horses	125	85 No. Brood Mares	30	head	\$120,000
Recreation Horses	250	135 No. Brood Mares	85	head	\$127,500
Brood Mares (Total)					\$247,500
Stud Fees					,
Recreation Horses		60 No. Stallions	115	mares bred	\$57,500
Stud Fees (Total)					\$57,500
Show Horses (Total)	110		150	head	\$750,000
Recreation Horses (Total)	200			head	\$360,000
Horses (Total)					\$1,415,000
POULTRY					. , , , ,

CONCORDIA PARISH

CONCORDIA PARISH ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
POULTRY						
Edible Eggs (Total)	20	400	No. Hens	10,800	doz. eggs sold	\$7,020
Pullets (Total)	20			300	each	\$525
Poultry (Total)						\$7,545
RABBITS						
Fryers (Total)	*	80	No. Animals	320	lbs.	\$256
Does (Total)	*	80	No. Animals	400	lbs.	\$60
Rabbits (Total)						\$316
GOATS						
Show Goats (Total)				25	head	\$5,625
Slaughter Goats (Total)				200	head	\$21,700
Stocker Goats (Total)				45	head	\$3,893
Cull Goats (Total)				60	head	\$3,600
Goats (Total)	20	405	No. Does			\$34,818
SWINE						
Show Pigs (Total)				2	head	\$570
Feeder Pigs (Total)				900	head	\$28,080
Slaughter Hogs (Total)				180	head	\$23,517
Culls (Total)				27	head	\$4,536
Swine (Total)	*	50	No. Sows			\$56,703
NEW - Alpacas (Total)	*	6	No. Breeding	12	Value	\$180,000
			Animals			
NEW - Alpaca Fleece (Total)	*	10	No. Sheared	120	Value	\$9,600
TOTAL ALL ANIMAL ENTER	PRISES					\$11,772,003

CONCORDIA PARISH \$65,655,261